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Předmět věty v činném rodě (Tourists visist the Tower of London.) se stává podmětem věty v trpném rodě (The Tower of London
 is visited.) Chceme-li vyjádřit i činitele děje, použijeme výraz by (The Tower of London is visited by tourists.).

Trpný rod tvoříme pomocí slovesa to be a trpného příčestí plnovýznamového slovesa. 
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Trpný rod používáme tehdy, když je děj důležitější než činitel děje.
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She isn´t told to be more polite.

The castle wasn´t built in 1569.

My car hasn´t been repaired.

They weren´t invited to the party.

The rivers aren´t polluted by the oil.

All the students won´t be tested.

Is she told to be more polite?

Was the castle built in 1569?

Has my car been repaired?

Were they invited to the party?

Are the rivers polluted by the oil?

Will all the students be tested?

negative
statement

questionpositive
statement

She is told to be more polite.

The castle was built in 1569.

My car has been repaired.

They were invited to the party.

The rivers are polluted by the oil.

All the students will be tested.


